SECTION C: MOREMOVERS

Judging countries: Germany, Russia, Sweden, Switzerland, Ukraine
Reserve:

Theme (proposed by Switzerland): In the try Black has a weak move A, which allows White
to deliver mate. The try may appear on any white move (not necessarily the first). So Black
makes a preliminary move or a sequence of moves (B), and if White continues with the
original plan, then move A later refutes it. Move A at any stage must not be a response to
check. In the solution White overcomes this obstacle by any means.



Cco1

1.Bd3? a3,cxd3 2.Bc3 cxd3,a3 3.Bb4 d2 4.Bxa3t

but1..c3!
1.Bc3! a3 2.Bd3 cxd3 3.Bb4 d2 4.Bxa3t
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1.f3? [2.5xd3,5¢6,Sd~1] Bxf3? A 2.5xd3%

butl..cl

Co2

S+ B 2.Kb1 Bxf3 A (3.5xd3+? Sxd3!)
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S+): deviation of the efficient

S+ B 2.Kb1 [3.f4+ gxf4 4.Bf6$] Bf3 A 3.Bxg5 [4.Bf41]

Se2 4.5xd3t

In the solution, two different ways for overcoming the

obstacle in the thematic try: a) in 1st variation (1...c1
preventing the preliminary efficient defence B (1...c1

b) in 2nd variation (1...c1
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black defender (Sc1) after defence B
Holst theme in pure logical form
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7. 7 &7 1.Rxf6? [2.Rxd6+ Ke4 3.Rd41]
A% Af/i/? Ag/féﬁ/% ..Ked 2. >'< + .Rxd6t |
» %7 /,,,,/é% //,.../é% but 1...Be6! (2.Rxe6 [3.Rxd61] dxc5! A)
19 1 .

é/ji? % Zﬁz % 1.Rg3? [2.Rd3+ Ke4 3.Rd41]
{gfi > %% = but 1...dxc5! A (2.Rd3+ Ked 3.Bc6+? Kxd3)

%////@% o % nN 1.Rg2! [2.Rd2+ Ke4 3.Rd41]
% . /?2’ 1..dxc5 A 2.Rd2+ Ke4 3.Bc6+ Bd5 4.Bxd5+

723 1..Ke4 2.Rd2 [3.Rd41] dxc5 A 3.Bc6+ Bd5 4.Bxd5+
14 (10+6)
C05 1..Bxd8 2.Bd1 [3.Bxg4] Se2 3.Bxe2 [4.Bxg4t] Rg2,Rh4
% 4.Bxg4+ Rxg4 5.Rxf2+ Rf4 6.Rxf41
T - 1.Bd1? [2.Bxg4t]
A 2 @% /dy ?E} 1..Rg2? Al 2.Rxf2+ Rxf2/Bxf2 3.Bxg4/Rg5t
o // 1..Rh3? A2 2.Bxg4t
) //% A%,,//& A% ! .
X NS /% but 1..Se2! B (2.Bxe2 Rg2! Al 3.Bxb5?,3.Bxg4+? Rxg4

?ﬁiz ?i? I % 1 @_ 4.Rxf2+ Bxf2!: if 2.Rxe2 Rh3! A2 3.Rxf2+ Rf3 4.Bb3?)
o) %/ [T %/ 1.5f7? [2.5d6,5h61]
/ //ﬁf Q:% ”””” 1 /¢E' but 1...BxF7! (2.RxF7+ Kg6 3.6 [4.Bxed+ Kh5 5.Rh7+
%f._// - %% f//,/%/ - oy (2. g6 3.66 [4. Rh7%]

+7 (10+10) 1.5b7! [2.5061]

1..5c8 2.Bd1 [3.Bxg4t] Se2 B 3.Bxe2 [4.Bxg4+] Rg2 AL
4.Bxb5 [5.Bd7+ Be6 6.Bxe61] Be6 5.8e8 [6.Bg61] g3
6.Bh5 [7.Bg4t] Bg5 7.Rxg5% (5...Bf7 6.Bd7+,6.Bxf7)
1..Bxb7 2.Bd1 [3.Bxg41] Se2 B 3.Rxe2 [4.Rxf2+ Rxf2/Bxf2
5.Bxg4/Bxg4,Rg5$] Rh3 A2 4.Rxf2+ Rf3 5.8b3 [6.Be61]
Bd5 6.Bxd5 [7.Be61] (5...Bc8 6.Bg8 [7.Bh71])

Double realization of the theme.
Black has to play B before Al resp. A2.



1.5bd6? [2.5e41] cxd5? A 2.5b5F

C06

Q [5.Qc3+

but 1...Qa6+! B (2.Bxa6 cxd5! A 3.Sh5+ Kd3 4.Sxa3+ Ke4!)
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Double preparation of the main plan with line-closing of

bQ and quiet sacrifices.
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C09

but 1..bxa3 e.p.! B2 (2.Sc2 Bel B3 3.5xa3 Scd6! A2

4.5xb5 Sxbb)
1.Sc2! [2.Sxb47F] Bel 2.Sxb4+ Bxb4 3.a4 [4.axb5%] Scd6

4.Bg4 [5.Bxd71] f5 5.exf6 e.p. [6.Bxd71]

but 1..Sxe5! B1 (2.Bxe5 5 Al 3.exf6 e.p.??)
Sxd4,Sc7+/5f5,5xb7 6.R(x)c7/axb5%

1.a4? [2.axb5%] Scd6? A2 2.Bg4 15 3.exf6 e.p.

1.Bg4? [2.Bxd7%] f5? Al 2.exf6 e.p.
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C10

1.Rb7? [2.Rcxc7%] 1...Rc4 2.dxc4 [3.Rexc7H]

1.Ka7? [2.Rb8%] 1...Rb4 2.axb4 [3.Rb81]
but 1...Qc1! (2.Rxc1 Rc4! 3.Rxc4 dxc4l)

but 1...Qb1! (2.Rxb1 Rb4! 3.Rxb4 axb4!)

1.Bh4! [2.5d6+ Kd8 3.7+ Sf6 4.Bxf61]

1..Qh3 2.Ka7 [3.Rb8%] Rb4 3.axb4 [4.Rb81]

(2.Rb7? Qxd3+1)

1..Qxf2 2.Rb7 [3.Rcxc71] Red 3.dxc4 [4.Rexc7H]

(2.Ka7? Qxda4!)
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C11

1.Se2! [2.Bxb6+ Kb5 3.5c3%] ¢5 2.Be3+ (2.Bf2+? Kb5

3.Kb7 Bf6 4.Rxf6 g1

Q 5.Rxb6+ Ka5 6.5xg1 c4) Kab5 3.5c3

2..Kb5 3.Kb7 [4.5c3+ Ka5 5.Rxa4¥] Bf6 4.Rxf6

[4.Rxa4$] b5 4.Rb4 [5.Rxb51] Kxb4 5.5d5+ Kab 6.5b4
[5.Rxb6+ Ka5 6.Bd2+] Ka5 5.8d2+ Kb5 6.Rxb6}

[7.Sc6%] Kxb4/cxb4 7.Bd2/Bb6%
In the try Black must first deflect the R before

promoting, thus forcing White to take the Q and delay

the mate. White overcomes the defence by choosing
Then ...Ka5 leads to mate after White’s sacrifices of his

the correct B-check, which refutes the ...Kb5 defence.
Rand S on the same square.
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C12

1.b5?7 [2.Bc2] d5 A 2.c6 bxc6 3.bxc6 d4 4.Be6t

but 1...c6! B (2.b6 d5 3.cxd6 e.p. Kd7!)

1.c6! [2.cxb7%] bxc6 2.Bc2 [3.Bd3,Be4] c5 3.b5 [4.c4 c6
5.b6 d6,d5 6.Bf5%] c4 4.Be4 [5.Bb7%] c6 5.b6 d6,d5/c5
6.Bf5/Bb7%
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C13

- Refutation by a pin that is hidden in the initial position
- The unsuccessful capture of b7 by the white king is

1.Rd1! [2.c31] b4 2.Rel [3.Redf] {5 3.exf6 e.p. [4.Redt]
replaced by capture with the white rook

d5 4.Rxe6 [5.5f5%] Rh5 5.Rb6 [6.Rxb4F] a5 6.Rxb7

but 1...f5! B (2.exf6 e.p. d5! A 3.Kxb7 Rh7!)
[7.5c6%]

1.Re1? [2.Re41] d5 A 2.Kxb7 [3.5¢61]
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Cl14

3..Bc5 4.Bxc7+ Bd6 5.Bxd61]

1.Be7! [2.Bxf61] Rg6 2.a5 (2.Bd8? Bb6! A) [3.Bd8

1.Ba5? [2.Bxc7%] Bb6? A 2.Bxc3+ Bd4 3.Bxd4+
[4.Bxc71] Bb6 4.axb6 [5.Bxc71] Rg7 5.Bxf61

but 1..Rg7! B (2.56xg7 [3.Bxc71] Bb6! A;

2..Kf4? 3.5e6+ Ke5 4.Bxc71)
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C15

but 1..Bd7! B (2.Sh2? Bc8 3.hxg4 hxg4 A 4.Sxg4+ Bxg4l)
1.Sb4! [2.5d3+ Kxe4 3.Rf41] bxc4 2.Sh2 [3.hxg4 [4.5f3%]
hxg4 4.Sxg41] Bd7 B 3.hxg4 [4.5f31] hxg4 A 4.Sxg4+ Bxg4
but 1...h2! (2.Rg2 [3.Be21] Sxd4! 3.5f2+ Kel 4.Sed+,Sg4+
1...gxf4 2.5f2+ Kel 3.Se4+ Kd1 4.axb4 [5.Sc3%] Bxb4 5.5f2+
4..Bxd4 5.5f2+ Kel 6.Sxh3+ Kd1 7.5xf4 [8.Be21]
2...d5 B 3.Re6 [4.Ra61] dxc4 4.Ra6+ Kb5 5.5d6+
3..d5 B 4.Rxd5 [5.Ra5F] Rh5 A 5.5f5 [6.Ra5F] Rxf5
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Analogous decoy by White and Black to prevent access to

al-hil.
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C18

[4.Ra71] Ka5 4.Ra7+ Sab 5.Bxb4+ Kb6 6.Rb7% but 2...Rh2!
3.Rxh2 [4.Ra2f] Re2! if 3.Rb7 [4.Ra7%] Ka5!) Ka5 3.Bb6+
(3.Kb3? [4.Ra2%] Re2 4.Ra7+ Sa6 5.Bxb4+ Kb6 6.Rb7F but
3..Rh2!' 4 Rxh2 [5.Ra2}] Re2!) Ka6 4.Bf2 [5.Ra7f] Ka5
5.Kb3 [6.Ra2t] Re2 6.Bb6+ Kab 7.Bc5 [8.Ra7+] Kab 8.Ra7+
Sa6 9.Bxb4+ Kb6 10.Rb7%

Sequential and parallel double implementation of the

1..Sxc7 2.Rb7 [3.Ra71] (2.Kb3? [3.Ra2F] Re2 3.Rb7
theme.

1.Sc7+! Ka5,Bxc7 2.Ra8t
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C19

4.Bc4 [5.5xd71]]] Kd5 3.Bcd+ K5
4.Bc4 [5.5xd71]]] Kd5 3.Bcd+ K5

4.Bc4 [5.5xd71]]

1.5g6! [2.5f8 [3.5xd7+ Kd5 4.Bc4t] ad+ 3.Kc3 [4.5xd7+
2.Kc3 [3.5f8 [4.Sxd7+ Kd5 5.Bcdt

1.Kc3? [2.596 [3.5f8 [4.Sxd7+ Kd5 5.Bc4t
Kd5 5.Bc4t

4.5f8 [5.5xd71]]

but 1...f5!
4.5f8 [5.5xd71]]
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C20

2..5C7 3.Rxc7 [4.Rc4f]

1..f2 2.Rxe5 [3.Re41] Se6 A 3.Red+ Sd4 4.Rxd4t
Q 3.Red+ Qcd 4.Rxcat

1.Rxe57? [2.Re4%] Se6 A 2.Re4+ Sd4 3.Rxd4%
2..f1

but 1..d5! B (2.Rxd5 Se6! A)
1..5e6 A 2.Rc8 [3.Rc4] Sc5 3.Rxc5 [4.Rc41]

1.5d6! [2.Rc8 [3.Rc41]]
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16 (14+11)

1.g4? h5 C 2.Ra3 hxg4 3.Rxb3 Ka2,Kal? A 4.Ra3+ Kbl
5.Ra8 g3 6.Ka7 Ka2,Kal 7.Kb8+ Kbl 8.Ba6 Ka2,Kal 9.Bb5+
Kbl 10.Ba4 Ka2,Kal 11.Bxc2%

but 3...g3! B 4.Kb8 Ka2,Kal! A 5.Ra3+ Kbl 6.?7?

1.Ka7? Ka2,Kal A 2.Kb8+ Kb1 3.Ra3 h5 S 4.Rxb3 Ka2,Kal
5.Ra3+ Kbl 6.94 hxg4 7.Ra8 g3 8.Ba6 Ka2,Kal 9.Bb5+ Kbl
10.Ba4 Ka2,Kal 11.Bxc2%

but 1..h5! C 2.94 hxg4 3.Kb8 g3 4.Ba6 Ka2,Kal A 5.Bb5+
Kbl 6.Ba4 Ka2! (6...Kal? 7.Bxb3+ Kbl 8.Ba4 Ka2 9.Bxc2%)
7.Bxb3+ Kxb3 8.Ra3+ Kxc4 9.??

1.Ra3!'h5 C 2.Rxb3 Ka2,Kal A 3.Ra3+ Kbl 4.g4 hxg4 5.Ra8
g3 B 6.Ka7 Ka2,Kal A 7.Kb8+ Kbl (7...Kb3? 8.Ra3+ Kxc4
9.Ba67) 8.Bab Ka2,Kal A 9.Bb5+ Kbl 10.Ba4 Ka2,Kal
11.Bxc2%

- Indian theme (white critical move)
- Switchback by the white rook

1.5d3? [2.Qc41] Qxd3? 2.Qxebt
but 1...Rc6! (2.Qxc6 Qxd3 3.Qc7 Rell!)

1.5e3? [2.Qxe5$] Qxe3? 2.Qc4t
but 1...Rd6! (2.Qxd6 Qxe3 3.Qc7 Bfl!)

1.Rg4! [2.Rxf4+ exf4 3.Qxf4+ Qe4/Sed 4.Be5/Be5,Qe51]
1..Bxg4 2.5e3 [3.Qxe5F] Rd6 3.Qxd6 [4.Qxe5F] Qxe3
4.Qc7 [5.Qc4$] Qe2 5.5d3 [6.Qc4t] Qxd3,Qxf2,Ked
6.Qxebt
1..Rxg4 2.5d3 [3.Qc4F] Rc6 3.Qxc6 [4.Qc4$] Qxd3 4.Qc7
[5.Qxe51] Qe2 5.5e3 [6.Qxe5F] Qxe3,Qxc2 6.Qc4t
3..Ke4 4.Qe6 [5.Qxe5F] Qxc2 5.5el [6.Qxe5%]
4..Kd4 5.Bxe5+ Qxe5/Ke4 6.Qxe5/B~%
1..Rd6 2.Rxf4+ exf4 3.Qxd6 [4.Qxf4+,Qf6+] Qe7+ 4.Qxe7
[5.Qe5%] Rel 5.Qf6+ Ke4,Re5 6.Q(x)e5F

Focal theme, exchange of W2/W5 moves, multiple
switchbacks, pseudo-le Grand, dual avoidance.



1.Bd6? [2.Bxa3 [3.Bb21]]

C23

but 1..Rxg4! (2.Bd6 Ra4? 3.5f2 d4 4.Se4 as solution;
but 2..Rd4! (3.5f2? Ra4! 4.Se4 Rxe4 5.Bxa3 Rel+!))
1.Bb6! [2.Bd4$] Rxg4 2.Bc5 [3.Bxa3 [4.Bb2t]] Ra4 3.5f2

d4 4.Se4 [5.5d2 [6.5b3$]] Red 5.5d2 [6.5b3%] Rxc2+ 6.Kxc2

5..Rc3 6.5b3+ Rxb3 7.cxb3 d3 8.Bxd4F

A direct attack on a3 fails, and in deflecting the bR White

must prevent the zwischenzug ...Rd4.

SR
///2////

/
mmeEmm

A\

/z/:/ N\
A\ L\ H
A\ ERAERNRN

AW

\n

k3

Model mate with bK away from the corner.
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C24

1.exf4? [2.Bc5 [3.Ra2 [4.Ra31] Sb5 4.Se41]]

but 1...c6! (2.Bc5? Bd5! 3.Ra2 Sb5!)

1.Bh2! [2.Bxf4 [3.Be51] Sb5,5f5 3.5e41] Be6 2.Bxf4

[3.Be5%] Shf7 3.Bg3 [4.Belf] Sed 4.Sxedt
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but 1..f41 B (2.Rxf4 [3.d3%] d4 A 3.d3+ exd3 4.exd3+

1.Kc2? [2.d3f] d4 A 2.d3+ exd3+ 3.exd3%
Qxd3!)

1.Rc6! [2.Rxc51] dxc6 2.Ke2 [3.d3%] f4 B 3.Rxf4 [4.d3%]

d4 A 4.Be6t

2...d4,Qxh4 3.d3+ exd3+ 4.exd3t

Unpin, pin, line-opening
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C26

1.f41 [2.Bel [3.Bc31] e2 A 3.Bf2%] Bf8 2.5 [3.Be51]
(2.Be1? [3.Bc31] Bb4! B (2...62? A) 3.Bxb4 e2! A) Bd6

=S

Q? Bd6!) e2 A/Bxf8

Be7 (3..62? A) 4.6 [5.fxe7 [6.Bf61] e2 6.Bf21] (4.Bxe7?

e2! A) Ba3,Bb4,Bc5,Bd6,Bf8 5.f7 [6.Bf61] Be7 6.f8

[7.5e6%] (6.Bxe7? 2! Aif 6.8

7.Bf2/Bf6}
theme (though all the four examples show it); instead

(2..e2? A) 3.Bh4 [4.Bf6+ Be5 5.Bxe5%] (3.Bxd6? e2! A)
The thematic move B does not appear in the solution
after the key, but its appearance is not required by the

Excelsior with minor promotion.

NN N N
W W B
/////z%/
7@7@@;%

N N N
NN NN

%z% AEA
« N\ N\ N\

/

here Black's defences are analogous to the basic idea of
the move B in the try (2...Bd6!, 3...Be7! and 5...Be7!).

(7+5)

~

s

c27

1.5xc4? [2.Re6 [3.Re11]] Kd1 A 2.Re6 a6 3.Re5 Kcl 4.Relt
but 1..Kb1! B (2.Kxb3 [3.Re6 [4.Re11]] Kcl 3.Re6 Kd1! A)

1..Kd1 A 2.Re6 a6 3.Re5Kcl 4.Relt

1..Kb1 B 2.Re6 a6 3.Rel+ Ka2 4.Sb4t

1.5d5! [2.Re6 [3.Relf]]

W\ ERARANR
/ / / /
N\ / \ %
N\ NN N\
N\ ERNERNRN
A\ @

//%4/ £
NG DN / %

R

(5+3)

4

C28

but 1..Kad! B (2.5c3+ Ka5 3.5d5 Kad 4.Kb6 ba! A)
1..Ka4 B 2.5e5 Ka5 3.503 b4 A 4.5e5 Ka4 5.5c4 a5 6.5b6+
3..Ka4 4.Kb6 [5.Kxa6 b4 6.5¢51]

1..b4 A 2.5d2 Ka4 3.Sc4 a5 4.Sh6F

1.Sb1? waiting
1.5f3! waiting

FEEE
N
N mew W
N e
e
E o w

A\ N\ iy
N\

(5+6)

16



C29

2..Sh8 3.Rf4 [4.Rf51] Bg4,Be4/e6 4.R(x)e4/Bxf6}

1..Bf3 2.Bb3 [3.5f7+] Bd5 3.Red+ Bxed 4.5f7+
(1...Bc2 2.Bb3,Rd4)

1..Bxa4 2.Bc4 [3.57%] Sh8 3.Bxh8 [4.5f71]

1.Bc4? [2.5f74]

but 1...Sh8!
1.Ra4! [2.Re41]

%
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/
A\

A

Qﬁa
. om //
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o NN\
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C31

1.Ra4? [2.Rabt] c4? A 2.Rxcat
but 1..Qal! B (2.Rxal c4! A)

but 1...5xd4! (2.Ra4 c4? A 3.Rxc4%; but 2..Qal! B
3.Rxal c4! A 4.Ra6+ Kc5 5.Bd677?)

1.d4? [2.Rxc5,d54]

1.5e6! [2.Rxc5,5081] dxe6 2.d4 [3.Rxc5%] Sxd4 3.d7

S+Sxd8 4.Ra4 c4? A 5.Rxadt;

(2.d7? Sf713.d8
but4..Qal! B 5.Rxal c4! A6.d4 cxd3e.p.!;

[4.d8=S¥] Sf7 4.d8=S+ Sxd8 5.Ra4 [6.Ra6t] Qal 6.Rxal
or 4.d4 Sb7!)

[7.Ra61] c4 7.Ra6+ Kc5 8.Bd6E

///m /

/
///
\ ]

mggﬂ
N\

/

///
////

DR
/ a0
\ &
W

/1/
A\
TG\

1

Sacrifices of two knights (including a promoted one)

(7+9)

[ee]

s

and a pawn, underpromotion to knight, e.p. refutation

of try, distant block of two squares, and a finale with

model mate.



BT
B
7 aAa 1.Bg6? [2.5061] Sc5? A 2.576%
2y 7 0 7, but L..Ra2+! B (2.Kc3 Ra3+ 3.Kb2 Rb3+! (3..Rd3?
> v 4.Bxd3 Sd~/Sf~ 5.5(x)f6/S(x)d6%) 4.Kxb3 Sc5+! A 5.K~
s 7 7 7 Kd7)
""" WomaE E
»»w 1.Bc6! [2.5f6%] Ra2+ 2.Ke3 [3.5f61] Rad+ 3.Kf4 [4.5f61
0 ) T Y
%% 7, ///// %% Rf3+ 4.Bxf3 Sd~/Sf~ 5.5(x)f6/Sxd61
,,,, .8 B 7 3..Ra4+ 4.Bxad [5.5161] Sf- 5.5(x)d6t
= . .

33 1.f3? [2.Be3,Rhxe21] Bxd3? Al 2.Be3%
but 1..Sf2! B (2.Rxf2? [3.Rfxe21] Bxd3! Al)

7 T T 7
U U Ak 1.f47 [2.Be3,Rhxe2f] Rxd3? A2 2.Rhxe2t
»» /%% = but 1...5f2! B (2.Bxf2? [3.Be31] Rxd3! A2)
o _Q_ » 1.Qad! [2.5f31]
T 5 :@// K 1..Bxa4 2.3 [3.Be3,Rhxe2t] Sf2 B 3.Rxf2 [4.Rfxe21]
,,,,,, A 7 7&K " |
ol v (2.f4? Sf2 3.Rxf2 Qhs!)
E/ y %i/, 2, 0, 1..Rxa4 2.f4 [3.Be3,Rhxe21] Sf2 B 3.Bxf2 [4.Be31]
i@t B (2.£3? Sf2 3.Bxf2 Qh6!)
% """ 2% g/ """ Zﬁf”)\) 1...Qh5 2.Qxb4+ Rc3 3.Qxc3%
+4 (11+12) A logical problem in which Al and A2 are weak

defences on the B1 move after 1.f3? and 1.f4?
respectively, but effective on the B2 move after 1...B!.
In the solution A1 and A2 are eliminated by decoy of bB
or bR. Change of functions of three black and two white
moves. Play on the same square by both Black and
White (a4, f2) or only by Black (d3). The reciprocal dual
avoidance after 1...Bxa4/Rxa4 is based on preventive
interference with the bQ-lines.

C34

> > - , 1.Rf3? [2.h5,5f8%] 1...exf3?? (no defence)

V. 7 7 7
J //4/ /%/ ///%;% but 1..Be5+! (preliminary defence) 2.Kxe5 exf3+
1 = o AN (defence) 3.Kd6 fxg2! 4.Bc6? Rf7 5.8e8 Qc5+! (4...5¢7?

DTN, 0,

7Y @ 1 y/@y 5.Bf3 Sce8+ 6.Ke7 Bxf3/Rxf3 7.5f8/h51)
/%71 %ﬁ o, ﬁ// 5 1.Bc6! [2.Be8+ Rf7 3.5f8,Bxf74] Sc7 2.Rf3 [3.5f8,h5%]

. 7,2 =& Be5+ 3.Kxe5 [4.5f8,h51] exf3+ 4.Kd6 [5.5f8,h51] fxg2
% /ﬁ/ % // 22’ """ 5.Bf3 [6.5f8,h51] Sce8+ 6.Ke7 [7.58,h51] Bxf3/Rxf3

----- ’ N 7.5f8/h5%
2 Viﬁ = ® 2
IV

T YT -
\L—Qﬁ _Q_%E% & Successive Nowotnys on the same square
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(6+11)
(11+10)

C36
C37

18

17

Prevention of black chain-defence by deflecting the rook

from the 8th rank.

(11+11)

18



C38

1..0-0-0 A 2.Qa7 [3.Qa6,Qc7,Qa8,Qb8%] Rd6+ 3.Bxd6
[4.Qc7,Qd7,Qa8,Qb8 1] exd6 4.Kxd6 [5.Qc7,Qas8%] Sf5+
5.Kxc6 [6.Qc7,Qa8t] Sd4+ 6.cxd4 [7.Qc7,Qa81] Kds

5..Se7+ 6.Qxe7 [7.Qc7,Qe8,Qf8%] Kb8 7.Qb7+
1..Sf5 2.Qxf5 [3.Bc7,Qf7+] 0-0-0 A 3.Qb1 [4.Qb8$] Rd6+
4.Bxd6 [5.Qb81] exd6 5.Qb6,Kxd6

1.Qf1? [2.Qf7+ Kd8 3.Qf8,Qg8$] 0-0-0? A 2.Qabt
7.Qd7t

but 1...Sf3! B (2.Qxf3 [3.Qf7+] 0-0-0! A)

1.Qf2! [2.Qf7+ Kd8 3.Qf8,Qg81]

em & W
/ .- / /
A/z/z//%%
Pt \ 2D\
o B B
//// A// ///// //
A\
M\ N\

(4+8)
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C39

6..Kb5 7.Qb7+ Kc4 8.Qab+ K5 9.Kc7 [10.Qxc61]
7..Kc5 8.Kc7 [9.Qxc61] Ked 9.Qab+ Keb 10.Qxc6t

1.Qf2! [2.Qf7+ Kd8 3.Qf8,Qg8%] S5 2.Qxf5 [3.Bc7,Qf7+]
0-0-0 A 3.Kxe7+ Kb7 4.Kxd8 Kb6 5.Qc8 [6.Kd7] Bbl
6.Qc7+ Kc5 7.Qab+ Kc4 8.Qab+ Kc5 9.Kc7 [10.Qxc61]

1.Qf1? [2.Qf7+ Kd8 3.Qf8,Qg81] 0-0-0? A 2.Qa6i

but 1...5f3! B (2.Qxf3 0-0-0! A)

Version of C38.

SO
L E
A/z/z//%%
e D
L L
el w oW

-
mi " el

(3+11)
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C40

1.f4? [2.Re51]
1..c52.5xc3t

1...56 2.Bxf6 [3.Re51] Sxf3 3.gxf3 [4.Re54] ¢5 4.Kd7

++

(90}

&)

X

w

— :

+_.m. (90

+ 0
DM QO =
= o : 90
N AN X
: N, o) :
- 50 Q —
= o © [a s =
> . 5 >
o) — —_— O

1.Bf4! [2.Re5%]
1..c52.5xc3t

\ &
A\ 0\
\
@E/i

el e\

//////
////

////
///

\ N«

////
///

///

///

A EN N\

N

N

\ /@/ﬁ%

N\

Q:

\

A
\GA\ A

1..5xf3 2.Bxc7 [3.Bf4 [4.Rd61]] R~ 3.Rd6+ Ke5 4.Rxg6+ Kd5

5.Rd6+ Ke5 6.Rf6+ Kd5 7.Rf5+ Se5 8.Rxe5%

(9+13)

18

4..Kf5 5.94%



C41

1..Qa5 2.5fe5 (2.5h67?) [3.5xg41] 56 3.Bxf6 [4.5xg41]

f3/Qxe5 4.Bxg5/Qxd21
1...5b3 2.5h6 (2.5fe5?) [3.5xg4t] Sf6 3.Rxf6 [4.5xg4t]

but 1...5f6! (2.Rxf6/Bxf6 dxc6/f3! 3.Rxe6+/Bxg5+

1.5fe5,Sh6? [2.5xg41] dxc6/f3?? 2.Sxg4+
Bxe6/Qxg5!)

1.Kell [2.Qxd21]

dxc6 4.Rxe61
White Nowotny

/z/ A\
g/ ﬁﬁ/ \
KRN @/// //// ////_@6
a/t/z@@/
E R AL
\Ya N\
A\ ERATRN %0
N\ N\

(9+13)
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C42

2..fxe3 3.f4 e2+ 4. Bxe2 f5 5.Bf3%

but1..e2+! B (2.Bxe2 f4 A 3.Sxe3 too slow)
2..fxe3 3.f4 e2+ 4.Bxe2 {5 5.Bf3%

1..f4 A 2.5xe3 15 3.5g4 fxg4 4.fxg4 3 5.Bxf31
1..e2+B 2.Bxe2 f4 A 3.5xf4 f5 4.5Sh3 f4 5.5f2%

1..f4 2.5xe3 5 3.5g4 fxg4 4.fxg4 f3 5.Bxf3t

1.8¢2?
1.5g2!
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o
//ﬁm/@/@
NN /ﬂ/g
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C44

7..Kgl 8.Qh2+ Kf1 9.Qf2%

but1..a5! B (2.Kg3 a4 3.Kf2 a3 4.Kg3 a2 5.Kf2 Kh2! A

6.Qb8+ Kh1!)
1.Kg3! a5 2.Kf2 a4 3.Kg3 a3 4.Kf2 a2 5.Kg3 Kg1 6.Qa7+

Kh1 7.Qh7+ Rh6 8.Qxh6+ Kgl 9.Qclt

1.Kf2? Kh2? A 2.Qb8+ mates

N R

B om w5
w_w_mam
s mE
//z/ ///

N\ ERAERNERN
SN\ 4=\ //%

C45

1.5h3! [2.5¢51] gxh3 2.Bb6 [3.5d2%] Rxd4 3.Sc5%
2...c5 3.Bxc5 [4.5d24] Rxd4 4.5d2+ Rxd2 5.f3%

but 1...c5! (2.Bxc5 [3.5d24] Rxd4!)

1.Bb6? [2.5d2F] Rxd4 2.Sc5%
Complex square-block. Obstruction of white pieces.

N\ TR\ /z%
/ /iﬁ;@
/&&_@6 / ////
e B
g N\ \
AL AN

W W mom
ot <t ]

(8+9)

5

1.Rb4? [2.Rd4$] ¢5? A 2.Rb6}

C46

but 1...Sc4! B1 (2.Rxc4 c5! A 3.Rxc5 [4.e5F] Rel! 4.5h6

[5.55%] gxh6!)

3...5¢7,5f6 4.Rd4+ Sd5 5.e5%

but 1...Sc7! B2 (2.Rxc7 c5! A 3.5h6 [4.Sxf5F] Rxh6! 4.Rxc5
1...gxh6 2.Rb7 [3.Rbxd7%] Sc7 3.Rxc7 [4.Rcxd77] c5 4.Kf6

[5.e5%] Sca!)
1..Rxh6 2.Rb4 [3.Rd41] Sc4 3.Rxc4 [4.Rd4t] 5 4.Rxc5

1.Rb7? [2.Rbxd7$] c5? A 2.Rb6t
[5.e51]

1.5h6! [2.5f5]

%;/z/ \\id
ﬁﬁa / /
/@/ A\ =\
QU N\ EN N\
N\l \\ e\

A\ / A\

\ U R
\ GA / i

[5.Rexd7%]
Two logical variations with play of the same wR.

(7+10)
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o %% . 1804 [2.8621] d4 2.Be6t
= X T, o0, but L..f3! (2.Bxf3 d4!)

X2 9 7
Vo)’ 5/ A/ 7/ A/
7 WA U 1.Bd7? [2.Bb5%] d4 2.Be6t
i/éji?@%/ """" % W but 1...c6! (2.Bxc6 d4!)

7= 7 Jalla
7 7 74 Y
//%{23/ . X / . 1.Ke8! [2.Kd7 [3.Kc6 [4.Bxd54]]]
N2 7 1..2 2.Bd7 [3.Bb5%] (2.Bg4?) c6 3.Bxc6 [4.Bb5E] d4 4.5d2%
a, . W 1..b5 2.Bg4 [3.Be21] (2.Bd7?) f3 3.Bxf3 [4.Be21] d4 4.5a5%
il s
4 (7+8)

C48 1.Be3? [2.5d41] Rxe3? Al 2.5d4+

T & but 1...cxb5! B2 (2.Rd4? [3.Be4t] Rxe3! Al)
’ ,%...,,47,,// %7 A ./fy 7,
) A Ut 1.Re3? [2.Be41] Bxe3? A2 2.Bedt

o a Ay but 1..cxd5! B1 (2.B4~? [3.5d41] Bxe3! A2)
Erte 12
Z //"/4 //"/4 // '////4
/ %éa/ﬁ/%/@% ,,,,, 2% 1.Kg8? [2.Beb+ fxeb 3.Rf8+ Sf7 4.Rxf71]
7 o 1Y, e
. //%ﬁ 2@2; gﬁ/}// but 1...Ra8!
.2 |

& Y 7 2 1.Kg7! [2.Be6+ fxe6 3.Rf8+ Sf7 4.Rxf71]
X %75 /%7 | 7/ 1..cxb5 2.Re3 [3.8e41] Rxe3 3.8xe3 [4.8e41]
REwR 1..cxd5 2.Be3 [3.5d4] Bxe3 3.Rxe3 [4.5d4%]

1..Ra8 2.Bxc6 [3.Bd7%] Ra6 3.5d6+ cxd6 4.Bd7+

The moves Al and A2 are weak defences on the B1 move
after 1.Be3? and 1.Re3? respectively, but effective on the
B2 move after 1...B2!/B1! Banny theme, Nowotny
interferences on e3 and vacation of e4 or d4 on W1 moves
of the logical tries and W2 moves of the solution.
Exchanged W2/W3 moves in the thematic variations.



1.Bd2? [2.Rf41] Sf5 2.Re6t

C49

1..e3 A 2.597 [3.5e8%] exf2+ 3.Kxf2 [4.5e8] Bh5

4.0Qxd5%
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but 1...Rf8! (2.Rxf8 Sf5! 3.Rf6 Sxd4! 4.Sc5+ bxc5)
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(10+12)
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C50
C51
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1..b4 2.Be2 [3.5f3+ Kg4 4.Sfd4+ Kh4 5.551]
1..5c8 2.Bxc8 b4 3.Ba6 b3 4.Be2 b2 5.5f3+ Kg4 6.5fd4+
Khd 7.55%

1.Bb77? Sc8 2.Bxc8 b4 3.Ba6 b3 4.Be2 b2 5.5f3+ Kg4
6.5fd4+ Kh4 7.5f5%

but 1...b4! (2.Ba6? Sc8 3.Bxc8 b3 4.Ba6 b2 5.Bd3 b1=~;
or 5.Be2 b1=Q; or 5.5f3+ Kg4 6.Bd3 b1=~ 7.Bxb1 h4
8.Se5+ Kh5 9.Bg67 too slow)

1.5f1!

1...Sc8 2.Bxc8 b4 3.Ba6 b3 4.Bd3 b2 5.Bb1 Kg4 6.Sh2+
Kh4 7.Bf5 b1=~ 8.5f3%

1..b4 2.Se3 [3.Be2 [4.5f5%]] Sb5 3.Bxb5 [4.Be2 [5.5f5%]]
cxb5 4.¢6 b3 5.¢7 b2 6.¢8=Q [7.Qd81]

1...Kg4 2.Se3+ Kh4 3.Kh2 Sc8 4.Bxc8 b4 5.Ba6 b3 6.Be2
b2 [7.S92,Sf5%]]

The wB must remain on a6 until Black’s 1st move is
known; otherwise Black’s stalemate plan, forcing
capture of his free pieces in the right order, will prevail.

1.Rc1? [2.Relf]

1..d5? A1 2.Rc6%

1..Rd8? A2 2.Relt

1..h1=R 2.Bg2 [3.Bd5%] f4 3.Rxh1 [4.Bh3%] d5 4.Rc1 Rc8
5.Bh3+ Kd6 6.5xc8%

but 1..h1=Q! B (2.Rxh1 d5! A1 3.Rc1 Rd8! A2 4.Rc6+
Rd6 5.Bg2 f4 C1 6.Bh3t; 5..Rxc6! 6.Bxd5+ Kd6!)

1.Bg2! [2.Bd5%]

1..f47 C1 2.Bh3%

1..Rf8? C2 2.Bd5+

1..h1=Q,h1=B B 2.Bxh1 [3.Bd5%] f4 C1 3.Bg2 [4.Bh3{]
Rf8 C2 4.Bh3+ Rf5 5.Rc1 [6.Re11] d5 Al 6.Rc6

Complete diagonal-orthogonal analogy between try and
solution, the so-called weak moves inclusive. In the try
there is a “long” zig-zag wR Rundlauf and a “short” wB
switchback, while in the solution it is exactly reversed. A
tiny difference between try and solution is based on the
fact that in one phase the pinned bR can move, but in
the other it cannot.
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1.Sa5+! Kc5 2.5xb7+ Kc4 3.5a5+ K5 4.Sb3+ Kc4 5.gxf5
[6.Sd2+ Kc5 7.Se4+ Kc4 8.b3%] Bf3+ 6.exf3 [7.5d2+ Kc5

8.5e4+ Kc4 9.b3F] d3 A 7.Rc6+ Kxd5 8.Rd6+ Kc4 9.5d2+

Kc5 10.Se4+ Kc4 11.b3%
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2..Kxd6 3.Bh2+ Kc6/Kd7 4.Qe6/Qe8%

but 1...Rg7!
1.Re6! [2.Be5%] Qc7 2.Red+ dxe4 3.dxed+ Kxe4d 4.Qd5%

1.Bg1? [2.f41] Ke5 2.Qe3+ Kf5 3.Bg6+ Kg4 4.Qg31

1.f4? [2.Bg11]
but 1..Rg7!
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c56 1.Qd6? [2.Qd3t] 1..c1=5 2.Bd1t
1..Bb5 2.Qxd8 [3.Qd3] c1=S 3.Bd1t

7, W & 7 2..Bxcd 3.Bxcat
o 2..Bd7,Rd7 3.Qxhd [4.Qf21]
% E.Q//// %% 1..Bc6 2.Qxd8 [3.Qd3%] c1=5 3.Bd1¥
3V 2. Bxed 3Rxedt
), A A2/ 2..Bd5,Bd7,Rd7 3.Qxhé [4.Qf24]
7y, /‘i% /iy/ g&/ but 1...Baa!
S T2 % 1RF1? [2.Rggl [3.RM24]]
N A® LS 1..5xb3 2.Rf2+ Kxel 3.503+ Kd1 4 Rgl
Wy N> :
n N Y i:bi?siQng [3.Qd3] c1=S 3.Rggl [4.Rf2§] Sd3
but 1..Bes!
= (13+11) ut .=e

1.Qg7? [2.R4g2+ hxg2+ 3.Qxg2t]

1...Qg5 2.Rxg5 [3.R5g2+ hxg2+ 4.Qxg21] Sxg5 3.Qxg5
[4.Qe31]

but 1...5g5!

1.Qh6! [2.Qe3t]
1..Qg5 2.Qd6 [3.Qd3%] c1=5 3.Bd1+
2..Qxd2 3.Qxd2%
2..Qe3 3.dxe3 [4.Qd2,Qd3t]
1...5g5 2.Qxh4 [3.Qf21] Sxe4 3.Rxedt

C57 1.Rb7? [2.Rxb4$] exf4 Al 2.Re7+
but 1..Sb6! B1 (2.Rxb6? [3.Rxb4t] exfa! Al)

% W js 1.Ba4? [2.Bc21] d4 A2 2.Bc6t
%% %7 /fﬁ}//@;/ but 1..b3! B2 (2.Bxb3? [3.Bc21] d4! A2)
Py TLigg 1
~ 2kt 1.5e87 [2.5xf6+ Rxf6 3.Rxe51
¥ 05t/ 2.d7 [3.5d61]]
= ) but 1...Bxf4!
2,0, 2%, 7,
B e 1.5h5! [2.9xf6+ Rxf6 3.Rxe5F] Bxf4 2.Rb7 [3.Rxbd] Sb6
U T U D B1 (2..exf42? A1) 3.Rxb6 [4.Rxb4t] Bxe3 4.Rxb4+ Bd4
5.8a4 (5..d47? A2) [6.Bc21]
6 (11+13)

A logical problem in which the moves Al and A2 (by
unpinned bPs) are weak defences on the B1 move after
1.Rb7? and 1.Ba4? respectively, but effective on the B2
move after decoy of wR by bS (1...B1!) or decoy of wB
by bPb4 (1...B2!) In the solution the moves Al and A2
are prevented by means of black self-obstruction on 4
or d4.
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14 (9+10)

1.5827 [2.5d717]
1.Rdxc6+? Kd5 3.Rd6+ Ked!

1.5f21 [2.5xd3%] Ba6 2.Rdxc6+ Kd5 3.Rd6+ Kc5 4.5f8
[5.5d7%] Rg2+ 5.Kxg2 [6.5d71] Sel+ 6.Kg3 [7.5d7,Bxd41]
Se2+ 7.Kg4 [8.S5e4,Sd71] f5+ 8.exf6 e.p.
[9.Se4,Sxe6,5d71] Bc8 9.Se4t
5..Bb7+ 6.Kg3 [7.5xd3,5d7%]
Rgl1+ 7.Kh4 [8.5xd3,5d71] Rgd+ 8.hxg4 [9.5xd3,5d71]
4..Rh1+5.Kxh1 [6.5d7%] Bb7+ 6.Rxb7
[7.5xd3,5d71] Rgl+ 7.Kxgl [8.5xd3,5d71] Se2+ 8.Kh2
[9.5xd3,5e4,5d71]
(2.5f8? [3.5d71] Rg2+ 3.Kxg2 Bc8? A 4.5xd3t
3..Sel+ B1 4.Kg3 Bc8? A 5.Bxd4t
4..Se2+ B2 5.Kg4 Bc8? A 6.Se4t
5..f5+ B3 6.Kg5 Bc8! A)

Thematic try on W2 move (main plan 2.5f8?) is finally
refuted on B6 move (6...Bc8!) thanks to the cyclically
shifted guards(+)/unguards(-) of 4 mating squares by 4
black units: Sc2-e1(+d3-d4), Sc3-e2(+d4-e4), Pf7-f5(+e4-
€6), Ba6-c8(+e6-d3). Switchbacks of black bishop
(thematic weak move) and white rook (preparatory
plan).

1.Kh4? [2.5xd6$] Ra6 A 2.Kg3 [3.5d41] hd+ D 3.Kf3
[4.5d44] Sb3 C 4.Bxc2t
but 1...g5+! B 2.Kxh5 Ra6! A

1.Kg3? [2.5d4%] Sb3 C 2.Kh4 [3.5xd61] g5+ B 3.Kxh5
[4.5xd61] Ra6 A 4.Bxc2%
but 1..h4+! D 2.Kf3 Sb3! C

1.Re3! [2.5d4+ Kf4 3.Se6+ KI5 4.Sxd61]

1..5b3 C 2.Kh4 [3.5xd61] g5+ B 3.Kxh5 [4.5xd61] Rab A
4.Bxc2t

1..Rab A 2.Kg3 [3.5d41] h4+ D 3.Kf3 [4.5d41] Sh3 C
4.Bxc2t

Exchange of W1/W2 moves and cycle of B1/B2 moves
(AD-DC-CB-BA) in the thematic tries.

Double rendering of the theme, where A and C are
weak thematic moves and B and D are preliminary
thematic moves.

In the end, there is a mate transference between two
variations.
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1.d4? [2.Be4,Rxe5%] Bxd4? A1/Rxd4? A2 2.Be4/Rxe5%
but 1...5d5! B (2.Rxd5 Bxd4! Al 3.Rd6 Qxf3+; 2.Bxd5

Rxd4! A2 3.Be6+ Rxe6)
1..Qa4 2.d4 [3.Be4,Rxe5%] Sd5 3.Rxd5 [4.Rxe5%] Bxd4

1..Raa4 2.d4 [3.Be4,Rxe51] Sd5 3.Bxd5 [4.Be4] Rxd4
4.Rd6 [5.Be4,5h6,Rf61]

4.Beb+ Sxe6 5.Rxeb5t

1.d3! [2.Bed+ Rxe4 3.dxe4,fxedt]
1.Bg5! Kcl A 2.Bxe3+ Kbl 3.Bh6 g5+ B 4.Kxg5 Kcl A

5.Kf5+ Kbl 6.Kf4 Kcl 7.Ke5+ Kbl 8.f4 Kc1 9.f5+ Kbl
10.Kf4 Kc1 11.Kf3+ Kb1 12.Ke3 Kcl 13.Kd3+ Kbl

14.Bc2%
1..Qb2,Qal 2.5g5 [3.Rxf7+] Rh2+ B2 3.Bxh2 [4.Rxf71]

1..Bb2 2.Be6 [3.Rxf7$] Rb7 B1 3.cxb7 [4.Rxf71] fxe6
hxgb A2/Bxc4/Se5 4.fxg5/Se4/fxeb,dxe5t

5.Kf5+ Kbl 6.Kf4 Kcl 7.Ke5+ Kbl 8.f4 Kcl 9.5+ Kbl
10.Kf4 Kc1 11.Kf3+ Kb1 12.Ke3 Kcl 13.Kd3+ Kbl
Al/Se5 4.Rf8/fxe5,dxe5%

1.Bb6? Kc1? A 2.Bxe3+ Kbl 3.Bh6 g5+ 4.Kxg5 Kcl
14.Bc2%

- White king and Pf3 exchange their places (f5/f3)

delays it at 3rd move, when it is no more efficient
- Model mate.

- The key prevents the defence B at 1st move, and
- Indian theme (white critical move)

but 1...g5+! B (2.Kxg5 Kc1 A 3.Bxe3+ Kb1l)
- White king walk including a switchback.
1.Be6? [2.Rxf71] fxe6? Al 2.Rf8%

but 1..Rb7! B1 (2.cxb7 fxe6! Al)

1.5¢5? [2.Rxf71] hxg5? A2 2.fxg5%

but 1..Rh2+! B2 (2.Bxh2 hxg5! A2)
1.Qc3! [2.d5+ Se5 3.Qxe5,fxe5%]

Two thematic variations

(8+12)
(8+6)
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é.(ifS? [2.Qxf7] Sf22? 2.Qxf7+
ut 1...fxe3! (2.Qxf1 Sf2!)
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1.Rf2? [2.Rf41] e5? A 2.fxe6 e.p.+ g6/f5 3.Rf4/Rf4 Bxf5%
but 1...g5! B (2.fxg6 e.p. Bg7+ 3.Kg8 e5 A 4.Rf3 Rxe3
5.5xe3 Ba2!; 4.c4? bxc4 5.Qxc4+ Rd4l; 2.c4? bxc3 e.p.!

3.fxg6 e.p.??)

1.c4! [2.Qxd51] bxc3 e.p. 2.Rf2 [3.Rf41] g5 B 3.fxg6 e.p.

[4.Rf41] Bg7+ 4.Kg8 [5.Rf41] e5 A 5.Rf3 [6.5f21]

4..Bh6 5.97+ f5 6.Bxf5%

Three thematic en passant captures.
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1.Rc1? [2.Rh1$] g5 2.Rc6
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White rook makes all seven moves, mating on the

starting square.
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